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A- Lanquage Functions

1- Respond to each of the following situations: (2 Marks)

a) | You apologize because you kept somebody waiting.

b) | Your father blames you for missing the train.

2- Say where the following mini-dialogue takes place and who the
speakers are: (3 Marks)

A. Could you tell our listeners something about your private life?

B. I'm 40. I'm married with three children.

Place L e iereneenennenerrnrnrinen s ... N ...
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B-Vocabulary and Structure

Choose the correct answer: (5 Marks)
a) | | can't concentrate. My head is ............. .

(1) turning (2 spinning (3 rotating (@) circling
b) | You can use this new product for all your kitchen ............. .

(1) roofs (2) ceilings (3) heights (@) surfaces
c) | | must apologize for putting you to so much............. .

(1) trouble (2) problem (3) issue (@) question
[« ) 1 I being a famous footballer , he is a successful surgeon.

(1) Because of (2 Despite (3 Aswellas  (4)In addition
e) | She ............. to swim when she was six.

(1) taught (2) educated (3 instructed  (4) learned
f) | He was rewarded. He ............. have worked hard.

(1) must (2) can't (3) should (4) mustn't
g) | The patientis ............. better today.

(1) fairly (2 quiet (3) rather (@) very

h | Maha is still............. from her operation.
(1) curing (2) healing (3 recover (4) recuperating
i | The new experiments showed that he was wrong ............. human nature.

(1) with (2) about @ to (@ on

We.......c..... in oxygen and breathe out carbon dioxide.

(1) take (2) inhale (3) absorb (4) breath
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4- Find the mistake in each of the following sentences, then write them

correctly: (5 Marks)

a)

I'll specialize when | get to the university.

oooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooo

b)

oooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooo

d)

oooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooo

oooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooo

g)

oooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooo

oooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooo
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C- Reading
5- Read the following passage, then answer the questions: (10 Marks)

Until the 1920s, listening to the radio remained a hobby enjoyed by only a few
enthusiasts. Then, in 1922 the BBC began transmitting regular radio programmes.
Television began only seven years later, but there were very few television sets in the
country. Incredibly, many of those early TV sets were built by their owners! The radio
offered news and entertainment programmes, but critics said that the large number of
programmes which were about theatre, literature, classical music and opera only
appealed to a small number of people. Many listeners wanted to know why their tastes
were being ignored. In 1936, the BBC started broadcasting a few hours of television
each day. You could only pick up the broadcasts if you lived in London, but there were
now more TV sets tuning in. With more channels in the 1950s and the 1960s, as well as
lower prices, it was not long before almost everyone had access to a television set. It
is hard now to imagine that whole families once used to gather around the radio to
hear their favourite programme.

A | Answer the following questions:

1 | Give a suitable title to the passage.

B | Choose the correct answer:

4 | The BBC began to send out television programmes in ............ .
(1) 1936 (21922 (3)1920 (4) 1950

5 | The radio was invented ............ the TV.
(1) before (2) after (3) at the same  (4) time
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D- The Prisoner of Zenda
6- A -Answer the following questions: (5 Marks)

1 | How did Duke Michael try to get rid of the king?

2 What did Rassendyll expect while he was riding on through the streets of
Strelsau towards the palace?

B- Read the following guotation, then answer the questions:

"Why doesn't my brother kill me now? "

4 | Who said this to whom?
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E-Writing
7- Paragraph - writing: (5 Marks)

Have you read a book or seen a play at the theatre recently? We want to
read your opinions. Write about anything that made the book / play
interesting and say whether you would recommend it to other people.




VY e 4 deaiall (V) 3 50l & 2391 & ) Balgtdl —  podall ol — 2 5oy 20

F- Translation
8- A. Translate into Arabic: (3 Marks)

The state is taking the necessary measures to uproot all forms of corruption
to push the wheel of production forward.

B. Translate into English: (2 Marks)

. baa g Ad g3 A ghase Ll g AS yidia A ghna il Y1 o LAY
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